For those in section 51750, here is the way you calculate your ratios for low and high bp unknowns.
For Fraction A

· Take the peak area for your low bp unknown that you also mixed with acetone and divide it by 2.  Call that result the low bp solvent area.

· Take the area for the high bp unknown and call it the high bp solvent area.

· Add the high and low bp solvent areas together and call it the total area.

· Divide the low bp solvent area by the total area and multiply by 100.  This is the percent low bp solvent in Fraction A.

· Divide the high bp solvent area by the total area and multiply by 100.  This is the percent high bp solvent in Fraction A.

For Fraction B
· Take the peak area for your low bp unknown that you also mixed with acetone and divide it by 2.  Call that result the low bp solvent area.

· Take the area for the high bp unknown and call it the high bp solvent area.

· Add the high and low bp solvent areas together and call it the total area.

· Divide the low bp solvent area by the total area and multiply by 100.  This is the percent low bp solvent in Fraction B.

· Divide the high bp solvent area by the total area and multiply by 100.  This is the percent high bp solvent in Fraction B.

For Fraction C
· Take the peak area for your low bp unknown and call it the low bp solvent area.

· Take the area for the high bp unknown and call it the high bp solvent area.

· Add the high and low bp solvent areas together and call it the total area.

· Divide the low bp solvent area by the total area and multiply by 100.  This is the percent low bp solvent in Fraction A.

· Divide the high bp solvent area by the total area and multiply by 100.  This is the percent high bp solvent in Fraction A.

